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Q1) T he following question contains ten multiple choice problems, 
each is 1.5 mark. Write (x) on the correct answer. 

1) lirn ry-a = 
t--·0 

(a) ~ (b) ± (c) l 
' 5 

6f 2) lim 4x+.;x:::t} = 
:i; -> -oo 4x+ l 

(a) . ~ (b) i (d) 1 (e) ~ 

f 3) L"!_f be any fondin~ tha{! (2) ttnd !'pl= 3, then)~~ ., 
(a)2 (b)3 (c)4 ,d (e)l 

4)Jjf (x) ':-" sin2x, then f (4 l) (x) = 
r}.!:a)241 cos2x @ -241 sin2x (c)-2sin2x (d) - 2cos2x (e)none 

5) If f (x) = x ~~x:_65 + 35~ =- x4~ + 3~:i(j_ +_4x10 
- 2x3 + 7, then J(5

0J (0) = 
(a) 2(65!) J01' (50!) (c) (65!) (d) (78!)+2(65!) --C-e}Kone 

6) If f (x) = ~'then the local linear a oroximatio off at x = 0 is, 
(a) 1 fx ( b) 1 + 2x ( c) 1 + 3x ( d + 4x ( e) 1 + 5x 

7) If d~f (6x) = x 3, then f' (6) = 
(a) ~ (b) 1 (c) i 

8) .!f y = 2c~s (sin -~_ 1 x) , then 1/-~- · 
(a) - 1- (b) -~ "7r:0(c x v'f=X-, v'l - .r°' U3_/j 1-xc (d) v-~::" ( ) 

- 4x 
e v'l - x" 

,J&· f JJ:!,) = c~!'._(2 lnx), then f f' (x) = , 
" ) - 2 - 3 4 a x - ;;-r (b) 3x - x"' ( c) 4x - -;s 

/'" ~ ,_.....~ _.,...___.._____ ~ 

(d) 5x - -!<; ~none 

(e) none 
}(i/If f (x) = 3tanh--1 (cosx), xi- mr, then t f' (x) = - cscx, 
A -2cscx (b) - csc2:z: (c) - 3cscx (d) - csc3x 
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In the following questions show your work in details. t 
Q2) (6-/:: Lmai·ks) Let f J.:E) = ~~"":Find,-
a) The point(0 at which f_ has a vertical asymptotes, o;: aJ!.ok. 
b) The Horizontal asymptotes of f . 


